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Online BDP Term End (Practical) Examinations : December 2020 & June 2021 

ÎÒàÚA¡¡ šàk¡yû¡³  ( Subsidiary Course )  

Practical 

šƒà=¢ [¤ƒ¸à ( Physics ) 

SPH- 3  : Subsidiary Physics - III  
 

Model Questions 

1. &A¡[i¡ t¡àì¹¹ ¤¸àÎà‹¢ [>o¢Ú A¡¹à¹ \>¸ ëA¡à>ô ™”| ¤¸¤Òà¹ A¡¹à ÒÚ ? 

 The instrument is used to measure the radius of a wire ? 

2. ƒõØn¡t¡à P¡oàìS¡¹ SI &A¡A¡ Òº N/m2 ú ">¸ ëA¡à>ô ¹à[Å¹ &A¡Òü &A¡A¡ Òì¤ ? 

 The SI unit of rigidity modulus is N/m2. Which quantity have the same 

unit ? 

3. \ìº¹ Îà@ƒøt¡àS¡ [>o¢ìÚ¹ ëÛ¡ìy ¤¸¤Òê¡t¡ Î³ãA¡¹o[i¡ Òº 
l

rP
V





8

4

 , &Òü Î³ãA¡¹ìo ëA¡à>ô ¹à[Å[i¡ Î¤¢à[‹A¡ 

P¡¹ç¡â« [ƒìÚ ³àšìt¡ Òì¤ ? 

 The equation for measuring coefficient of viscosity is  
l
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 , which 

quantity needs to measure with utmost care is ? 

4. \ìº¹ Îà@ƒøt¡àS¡ [>o¢ìÚ¹ ëÛ¡ìy ¤¸¤Òê¡t¡ íA¡[ÅA¡ >ìº¹ šøÑ‚ìZáƒ ÎåÈ³ Ò*Úà "à¤Å¸A¡ ëA¡> ? 

 The capillary tube used for measuring the coefficient of viscosity of water 

must be uniform in cross-section , why ? 

5. Ñ‚à>à”z¹ š‡ý¡[t¡ìt¡ l¡üv¡º ëºìX¹ ëó¡àA¡àÎ íƒQ¸¢ ¤à¹ A¡¹ìt¡ [KìÚ ëƒJà ëKº ëA¡à> "¤Ñ‚àìt¡Òü ÑšÊ¡ Îƒ[¤ ¬́ 

šà*Úà ™àìZá >à¡ú &Òü "¤Ñ‚àÚ D &¤} f-&¹ Î´šA¢¡[i¡ [A¡ ? 

 To measure the focal length of a convex lens by displacement method it 

is found there is no real image in any place. In that case what is the 

relation between D & f  ? 

6. Ñ‚à>à”z¹ š‡ý¡[t¡ìt¡ ëó¡àA¡àÎ íƒQ¸¢ [>o¢ìÚ ëºìX¹ &A¡ "¤Ñ‚àì> Îƒ[¤ì´¬¹ [¤¤‹¢ì>¹ ³à> 2 Òìº ">¸ "¤Ñ‚àì> 

A¡t¡ Òì¤ ? 

 If the magnification is 2 for the image produced in one place by convex 

lens in displacement method, then what will be magnification for other 

place ? 
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7. Ñ‚à>à”z¹ š‡ý¡[t¡ìt¡ l¡üv¡º ëºìX¹ ëó¡àA¡àÎ íƒQ¸¢ [>o¢ìÚ¹ Î³ãA¡¹o[i¡ [A¡ ? 

 What is the equation used to measure the focal lens of a convex lens in 

displacement method ? 

8. &A¡[i¡ Î[yû¡Ú \àºìA¡¹ ">¸t¡³ l¡üšàƒà> [A¡ ? 

 What is the main elements for active network is ? 

9. &A¡[i¡ "àƒÅ¢ ë®¡àìÂi¡\ l¡ü;ìÎ¹ ³èº í¤[ÅÊ¡¸ [A¡ ? 

 What is/are  main feature(s) of ideal voltage source ? 

10. ë=ì®¡[>> l¡üššàìƒ¸ ë™ ƒå[i¡ ¹à[Å [>o¢Ú A¡¹à ÒÚ t¡à [A¡ [A¡ ? 

 In Thevenin theorem which two quantities need to calculate ? 

11. l¡üÌ¡t¡à¹ ÎìU =à[³¢Ð¡àì¹¹ ë¹à‹àìS¡¹ š[¹¤t¢¡ì>¹ Îèy[i¡ [A¡ ? 

 Change of resistivity of a thermistor with temperature is related by the 

which equation ? 

12. š[i¡ìZáƒ [>o¢ìÚ¹ ">¸ &A¡[i¡ š‡ý¡[t¡¹ >à³ [A¡ ? 

 Which is the process to measure the band gap ? 

13. &A¡[i¡ i¡öà>[\Ð¡àì¹¹ ëÛ¡ìy  -&¹ ³à> A¡t¡ ? 

 What is the value of   of a transistor ? 

14. &A¡[i¡ CE mode transistor ¤t¢¡>ã¹ Òü>šåi¡ ëºJ ë=ìA¡ ëA¡à> ¹à[Å[i¡ ³àšà ™àÚ ?  

 In CE mode transistor circuit, the input characteristic curve gives which 

value ? 

15. &A¡[i¡ CE mode transistor-&¹ ¤t¢¡>ãìt¡ -&¹ ³à> [>o¢Ú A¡¹à ™àÚ ëA¡à>ô ëºJ ë=ìA¡¡ ? 

   of a transistor can be measured from the which curve of CE 

configuration ? 

16. Zener voltage-ëA¡ [A¡ ¤ìº ? 

 What is Zener voltage called ? 

17. &A¡[i¡ silicon l¡àìÚàl¡-&¹ ó¡¹*Úàl¢¡ ë¤øA¡l¡àl¡ü> ë®¡àìÂi¡\-&¹ ³à> A¡t¡ ? 

 What is the value of forward breakdown voltage of a silicon diode ?  

18. "àl¡üi¡šåi¡ Òü>šåi¡-&¹ Îàì= Î³ ƒÅà Î´šÄ ÒÚ ëA¡à> ¤t¢¡>ãìt¡ ? 

 The output is in same phase with the input in which circuit ? 
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19. &A¡[i¡ CB circuit-& "àl¡üi¡šåi¡ ë>*Úà ÒÚ ëA¡à> šøà”z ë=ìA¡ ? 

 In a CB circuit, the output is taken from where ?  

20. ëšàºà[¹[³i¡àì¹¹ ÎàÒàì™¸ [A¡ ³àšà ÒÚ ? 

 What quantity is measured by polarimeter ? 

21. t¡¹ìº¹ ëÛ¡ìy "àìš[Û¡A¡ "à¤t¢¡> l¡üÌ¡t¡à¹ ¤õ[‡ý¡¹ Îàì= [A¡®¡àì¤ š[¹¤[t¢¡t¡ ÒÚ ? 

 With the increase in temperature how specific rotation for liquid 

charges ? 

22. &A¡[i¡ ëKø[i¡} šø=³ yû¡³ "š¤t¢¡ì>¹ ëÛ¡ìy ƒå[i¡ Jå¤ A¡àáàA¡à[á ¤o¢à[º ë¹Jà 5890 Å &¤} 5896 Å ëA¡ 

"àºàƒà A¡¹ìt¡ šàì¹¡ú &[i¡¹ [¹Îº[®¡} Û¡³t¡à¹ ³à> A¡t¡ ? 

 A grating is able to resolve two very close spectral lines of 5890 Å & 

5896 Å in its first order diffraction. What is the resolving power of the 

grating ? 

23. &A¡[i¡ ëKø[i¡}-&¹ [¹Îº[®¡} Û¡³t¡à [A¡ìÎ¹ Îàì= š[¹¤[t¢¡t¡ ÒÚ ? 

 How resolving power of a grating changes ? 

24. &A¡[i¡ Ît¡¸Îà¹oã Òº [>´•¹ê¡š : 

A B Y1 Y2 

0 
1 
0 
1 

0 
0 
1 
1 

0 
1 
1 
0 

0 
0 
0 
1 

 &[i¡¹ ¤å[ºÚà> Î³ãA¡¹o[i¡ [A¡ ? 

 Truth Table is given as follows : 

A B Y1 Y2 

0 

1 

0 

1 

0 

0 

1 

1 

0 

1 

1 

0 

0 

0 

0 

1 

 What is Boolean equation of it ? 

25. Exclusive OR gate-&¹ [W¡Òû¡ [A¡ ? 

 What is the symbol of Exclusive OR gate ? 
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26. ABCCABCBABCAY   

 &Òü ¤å[ºÚà> Î³ãA¡¹o[i¡ìA¡ Î¹ºãA¡¹o A¡¹ìº [A¡ Òì¤ ? 

 If the Boolean expression  

 ABCCABCBABCAY   

 is simplified then what will it be  ? 

27. NAND gate ¤¸¤Òà¹ A¡ì¹ ëA¡à> ëKi¡¡ ¤à>àì>à ™àÚ¡ ? 

 NAND gate is used to make which gate ? 

28. ë\>à¹ ë¤øA¡l¡àl¡ü> ë®¡àìÂi¡ì\¹ [>ìW¡ l¡üÌ¡t¡à ¤àØl¡ìº ë¤øA¡l¡àl¡ü> ë®¡àìÂi¡\-&¹ ³à> [A¡ Òì¤ ? 

 If the temperature increases below the Zener breakdown voltage, then 

how breakdown voltage will change ? 

29. CE ë³àl¡ i¡öà>[\Ð¡à¹ ¤t¢¡>ã¹ ëÛ¡ìy ëA¡à>ô[i¡ [k¡A¡ ? 

 In CE mode transistor circuit which is correct ? 

30. CB ë³àl¡ i¡öà>[\Ð¡à¹ ¤t¢¡>ã¹ ëÛ¡ìy current gain-&¹ ³à> A¡t¡ ? 

 In CB mode transistor circuit the what is the value of current gain ? 

   ======= 


